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SARDAR PATEL UNIVERSITY
LL.B. (Special) (Il SEMESTER) EXAMINATION
2012
Saturday, 1% December
2.30 p.m. to 5.30 p.m.
Arbitration, Conciliation and A.D.R. System : Paper-VI (Old)

Total Marks : 70

Note : Figure to the right indicate full marks.

Q.1 Examine the various stages of development for the present Arbitration [12]
Act.
OR
Q.1 Discuss: [12]

(&) Powers of Arbitral Tribunal
(b) Expertin Arbitration

Q.2 Explain the difference between conciliation proceeding and arbitral [11]
proceeding.
OR
Q.2 Write short notes: [11]

(&) A pre-requisites of a valid Arbitral Award.
(b) International Commercial Arbitration

Q.3 How the arbitrators are appointed ? State the grounds of challenge [12]
against their appointment.

OR

Q.3 Explain: [12]
(&) Language and place of arbitration
(b) Enforcement of arbitral award

Q.4 Write short notes on Any Two : [12]
(a) Grounds for setting aside an arbitral award

(b) Lien on arbitral award

(c) Correction, Interpretation and Additional award

(d) Doctrine of waiver



Q.5

Q.5

(a

(b)
Q.6

(a
(b)
()
(d)

Y.1

Explain the constitution and functions of National legal service
authority under the Legal Service Authority Act.

OR
Discuss the following :
Termination of conciliation proceeding.
Cost of conciliation proceeding.

Write explanatory notes on Any Two of the following :
Supreme court legal service committee

Geneva convention

Role of conciliator

Powers of Lok-Adalat
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